g . 474458 SR 172,183 Kyb 202544838

mE A | BAKFH &t e AR | BARRFH &t e #BARY) | BERRFH ait mE BARBEY | BAKFH &t
JULS ATa=h 124 124 AL 28 28 F4PIATH(TILT) 7 20 27 B-5FUF15R 792 792
ISFA—IL RI=7 193 677 870 P 11 59 70 ThAYE 96 96 B TULS 54T 144 144
RIRIT=7 8 8 ZRESY 8 8 FAE—=(~NTS) 918 778 1,696 B-0—X%)— 382 492 874
BRIRERIT=7 24 24 ZDH5 97 97 I—E—DXK 60 25 85 B-h—F—>av 330 304 634
TYIHHS 504 504 RISFAT4T5 L 123 30 153 FyEY 5 1 6 B- 528 144 392 536
Za—F=FRAVISFIVR 160 40 200 TAITIVINXT 58 58 ZTDHERZEREY 1,741 6,235 7976
h—Fr—av 96 120 216 J407ROY 80 56 136 9FFY 10 247 257
I=p—FR—lav 16 6 22 FRyY 240 240 DA i 72 72
HILIFR 335 154 489 R 4=l N 41 37 78 2oL 384 32 416
ISy 83 83 KRR 267 1,134 1,401 YNE 10 9 19
YARIT (CRSYT) 120 168 288 TIS* < 64 64 NESUTT 1,305 663 1,968
TI5=0L 193 204 397 FOhLT 67 67 NS 997 844 1,841
FAE—ES=H LA 118 47 165 HIXAE 1 1 S=NS 2,191 625 2816
UM R—U7 52 180 232 TURY L 295 401 696 EIXF 30 12 42
TAENTAEA 727 60 787 EVRTS 95 204 299 FURYTa 54 54
NILIST— 91 121 212 EXEVRTS 45 51 96 Rey 16 6 22
SFU¥a5R 85 4 89 D =rIN 77 77 a7l 368 280 648
H—=RS 411 145 556 wray 62 35 97 EvI¥ 144 12 156
NITOESHRIV 212 30 242 LIILSE 7 36 43 TIL—ARY— 66 10 76
HUHIN—R— 64 21 85 YEFUYR AYTRSIYR 35 23 58 PP=) 18 18
Hho— 211 76 287 FOTUEL 106 209 315 B 52 22 74
HY=7 48 48 F#7ALER 32 32 I—ILRILRE 26 26
RS)IT=H L 288 131 419 FER 35 35 EIU 24 24
IRFFUHYR 66 66 FRF7LDAR) 6 6 Fa—hl7 2 2
Joxi=7 12 12 TTFUR 48 48 VIFE 2 2
=7 55 55 $oeRy7 20 234 254 VT 20 20
FILARBAT 89 89 N—hHZ5 24 24 Wi 2 2
EX/REY 36 12 48 iy 93 43 136 foxsd 40 40
wIVT 91 80 171 $RTY 459 278 737 *)—7 90 67 157
<—HLwhk 1,078 302 1,380 )= 9ILR 114 161 275 EAYE 108 24 132
anyy 14 14 1A 80 80 BESJEAE) 279 123 402
F¥3v 8 8 NFERY 39 39 BEB (EH) 19 23 42
BTLIHE 99 11 110 ZHRI—FRILET 53 53 106 ZDhERE 96 127 223
i 12 132 144 70T 6 74 80 B HILET 333 332 665
)—3—JLK 11 11 BEZAH 1,894 1,969 3,863 B 2YU5 1,058 1,924 2,982
HILET 57 30 87 Fot+ 75950R 58 73 131 7= 1,008 264 1,272
AX5Y 30 30 60 FSt+ FLAVLR 26 32 58 e o— 48 48
RE—FR 18 128 146 KSt+ avios 4 5 9 B-AJ=7 1,704 846 2,550
LAY T 330 75 405 VLS 35 53 88 B RXFa=7 13,126 4,250 17,376
FHRER 22 22 ryo)S5y 39 39 ERESelrs 648 648
TILT4=9Ls 224 6 230 FS++ so—hi 5 5 B-IY—I—LK 6,339 4,125 10,464
HYRIZRE—X 36 20 56 KS++ LILsH 3 3 B A IRFIUR 280 240 520
RFaZ7 380 180 560 FSt3 duk€o47—F 16 19 35 BT84 72 336 408
HILEASYT 33 33 eSS 2 431 433 BH-ALoTaS 384 408 792
FREFY L 12 12 AVRTLOK 34 43 77 B LILFI—L 576 736 1,312
N—=ARF 32 12 44 TA4HR RS+ 11 58 69 B /—RR—)L 836 300 1,136
JVEFR 168 168 B 20 5 25 - ETRYuR 600 600
HFoaT 868 40 908 $a0Fy 12 15 27 B-¥o¥avy 1,584 804 2,388
I ELSUT 57 57 PEEDYFS 40 40 R AS=ara 2,378 1,793 4,171
HEYRTUE 30 30 FLAYY 26 31 57 B-FR 1,140 2,211 3,351
FTHLT 1,322 281 1,603 avh 23 83 106 ERR 4812 3,162 7,974
LTRRRILT L 126 126 FrARLT 1 1 H-Fayy 1,644 96 1,740
=4 282 90 372 T=IILYY 33 66 99 ERAS D] 288 960 1,248
NAERHR 79 79 aJavY 2 2 ERE 200 200
JT—HUELT 80 18 98 TUFx 5 5 B ILIFR 180 180
$ravh 44 44 ZDtY 5 5 kAR 34 34
2 TES 66 92 158 H3T7 21 131 152 B AATUHR 2434 1,304 3,738
TEHANIL S Y RIV 11 11 22 el 5 5 TEWE (ZD1th) 19,480 23,110 42,590
ATF4=F 26 26 FA2=7 85 27 112 HRE (Z01th) 3,732 6,356 10,088
JLELT 34 34 FSURLT 190 194 384 B (D4 5,160 7,760 12,920
Ao=7 467 59 526 RALFYT 12 12 - AY=7 1,664 1,360 3,024
~—AR 144 144 ~RRpI7 225 205 430 B4k 120 812 932
RENZXS 12 12 AUy 11 83 94 H-AXY7 1,032 504 1,536
HHoo0x 15 15 FI15UKS 57 57 ER=DERES 432 432
Nn—>J7 420 855 1,275 T4vbh=7F 96 96 H-SV58F 216 360 576
FRUE— 615 251 866 ISAFILR—)L 400 48 448 B-E5=0L 803 1,717 2,520
[A)-te 240 240 rSTFRAVFT 140 140 B IIL—FT—C— 348 312 660
0—X<3!)— 44 322 366 YRFR 3 3 B TAELTAED 2012 774 2,786
HU7 575 318 893 FRINTHR 72 5 77 B —HLvk 2513 542 3,055
N RIEREE 192 211 403 BHE 48 48 ®H-UFU7 718 1,308 2,026
LB EE 4 24 292 316 ARLYFT 16 68 84 EIEEI 216 192 408
Z DA EKTE 1,435 2,858 4,293 RRUTR 8 20 28 B RA—FTYvH L 664 1,056 1,720
JUESYL 6 6 EL7 24 24 SR — 2,988 1,015 4,003
FUROEY L (VELZR) 210 210 DyHR 5 5 H-LEFR 352 304 656
TURBAED L (ZDHh) 189 15 204 S—HEED 204 32 236 B-FREFYL 592 192 784
I7LITOR 1,598 301 1,899 %5 67 279 346 #-YRTZRA—X 27 27

BRAERHIST—H = ar Py

http://www.faj.co jp




